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R o | BT e | B2 | e | e | B2 | BT e | B2 | T | & |
1 100kN/m##8 %% 1.00{0.00 ~ 212 132.90| 3m%*x#B2 5% -~ - - —| 100kN/mM%#2Z % 1.00{ 11.02 ~ 22.01 132.90| 3m%*#B 25 -~ - - -
s 1.00]2.12 ~ 9.91 100.00f Zhklst |0.00 ~ 9.91] 253 12.81 s 1.00f 500 ~ 11.02 100.00f Z=hl4t+ | 5.00 ~ 22.01| 2.53 12.81
9 100kN/m##8 %% 1.00{0.00 ~ 3.18 150.75|3m%# %% 0.00 ~ 0.24 3.13 15.84| 100kN/m#%#B 2% 1.00{ 10.60 ~ 27.58 150.75|3m%*x# % %] 25.00 ~ 27.58| 3.13 15.84
s 1.00] 3.18 ~ 10.96 100.00f Zhkl9t | 0.24 ~ 10.96] 3.00 15.16 s 1.00f 5.00 ~ 10.60 100.00f Z=hkl4t+ | 5.00 ~ 2500 3.00 15.16
3 100kN/m##8 %% 1.00{0.00 ~ 343 155.24|3m%x# %% 0.00 ~ 0.51| 3.29 16.62| 100kN/m#%#B 2% 1.00{ 10.68 ~ 31.22 155.24|3m%x#8% %] 25.00 ~ 31.22| 3.29 16.62
s 1.00] 343 ~ 11.22 100.00f Zh 4t | 0.51 ~ 11.22] 3.00 15.16 s 1.00f 5.00 ~ 10.68 100.00f Z=hkl4t | 5.00 ~ 2500 3.00 15.16
4 100kN/m##8 %% 1.00{0.00 ~ 1.15 117.36| 3m%x#B2 5% -~ - - —| 100kN/mM%#8 % % 1.00{ 10.57 ~ 14.27 117.36| 3m%x#B =25 -~ - - -
ZHnLs 1.00]1.15 ~ 8.94 100.00f Zhki4t |0.00 ~ 8.94| 2.15 10.84 s 1.00f 5.00 ~ 10.57 100.00f Zhlst | 5.00 ~ 14.27| 2.15 10.84
5 100kN/m##8 %% 1.00{0.00 ~ 0.92 113.81|3m%x#B2x 5 -~ - - —| 100kN/mM%#2 % % 1.00{ 10.53 ~ 13.27 113.81|3m%x#B25 -~ - - -
s 1.00]092 ~ 8.71 100.00f Zhkl4t |0.00 ~ 8.71] 2.20 11.11 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t | 5.00 ~ 13.27| 2.20 11.11
6 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 492 61.35| =nLlst | 0.00 ~ 0.00] 1.72 8.70 s 1.00f 500 ~ 5.20 61.35| =hllst | 500 ~ 520 1.72 8.70
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5% ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ zhLst ~
100kN/mM##BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ FhLst ~ zhLst ~
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